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M- 1,250 F1 (100g) 1800 g NN, < l: =118 F(Hiffi) X 50m(fEiHE) x 2+ 2 E (MM HAER) + 1,600 F (BHIFEE)
AR 700 [} (100ml) 800ml R FH L VI (BHIFE0
GRS 700 14 (500g) 2600g rismy G 1AM EME O 38.7 M(BHMAR+IRREM )
(FEHITE) (E) 1 64/ B fi it 2
i BER (g X mD) | BE () | SEAL | LBEREC | 1AM (R #fif i 2 6 5 > (i
T 734 7 A 1,800 1,250 22,500 | 1,600 14.1 in 4 HEFE fifi A [TRIEES 4 e
STREE 800 700 5,600 1,600 3.5 s x Yy 2 | 2000 H 13,000 %2 5 5,200
it 2,600 700 3,640 1,600 2.3 GEREEE 5mX5m 5,200 X 2 2 5,200
it 12 R O3=19.8 )
1 f4EMEE ©213 M (FE-RO1+K LRO2 +EEERO3) K & — 2 30m 3,500 % 2 3 2,333
K 7 v 1 1 2,200 % 2 3 1,467
(D) 1 554 &M% WK a—n 10 ¢ H 2,200 X 2 3 1,467
(1) BrfEr it 15,667
(B HERE) (7
OME TI7RF v 8l 1R/ N R RS R ©9.8 1=15,667 M (EHIEEH +1,600 # (BHHAE)
o) §iffi 280 [
o™it FHAFE$L 8 4F (F)1 4624 e ax (10 2
(FEH ) (R LT
LM AEWANR O 35.0 =280 M (Hifffi) /8 4 (fiit FH 480 A & A4 T TR
(2) 14U EREM 1) fifE 300 ni(1,600 #UNZA 3.3 nf 18 4H)
(B 5ERE) )it FHAEEL 5 4F
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=)3.3 mi H4fiffits 4,400 F

(BT

- 1 M E s EAE ©50.0

=1,333 M (i 4iffi#%) x 300 of ([HIHE) + 5 4E(MHEH) + 1,600 56 (B HIFHED
(G)1 #2457 (8 %%

(R LRE)

A)1 A4 5@ 10,000 (8 H#5518)

7)10 7 — A M BEEEC 20 FH

210 7 — Y S B RERE 5 IRERE

(E 7

LN EE S ©313

=10,000 H (1 H Y4578 4) + 8 W X 5 BRI (10 7 — v 24 F7 e
+20 F(10 7 — A4 ARG R

()10 7 — (20 58) LI IR ENE . RRIERIRIL — B AR EEERIC X - 72,

(H) 1 5624 B4 i e oo e Il 548

(R LS

BB D 5% %W T 5,

(BT

1 AU B RS O R AAHBE37 F1=735 F (#fE2) X 5%

LSRR RRE 772 1

=0+®+0+0+E+®+G+® (1 HY4% & 10,000 Mosa




4. FEER

(1)1 4 4 SRR 6 0 R G 1 %)

= = st B it + A B B 7 s
FE FEp= HEH 19 ZFE S 5 RE I il 15 HH ENf& 1y

& | IERSRETIE () %4 1,222 1,125 1,250 1,199 975 881 928 992 925 1,000 972 1,100 984 1,042
|| LSRR IE (M) %3 1,224 1,075 1,250 1,183 975 881 928 992 925 1,000 972 953 953
Bl £ 8 X (% 4/%3 AN0.2 4.7 0.0 1.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.3 9.3
R G &4 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0

1RSI SIHE (M) %4 1,034 1,125 999 1,053 932 975 954 988 1,013 1,003 1,001 1,013 1,079 1,046
A mmuResne (M) %3 1,019 1,063 971 1,017 905 972 939 963 983 977 974 1,000 1,055 1,027
; 7 R (%) £4/%3 1.5 5.9 2.9 3.4 3.0 0.3 1.7 2.6 3.0 2.7 2.7 13 2.3 1.8

B @ B M G 4 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0
2 | IMYReEXHE (M) 44 1,028 989 1,009 856 856 991 991
| 1SR A4IRSHE (M) %3 1,036 971 1,015 863 863 972 972
8 R (%) S4/%53 N 0.8 1.9 0.6 N 0.7 N 0.7 1.9 1.9
) 44 8.0 8.0 8.0 8.0 8.0 8.0 8.0
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(2) 40 5 R EHEE R A (5 2 )

RE NE N+HE E
FE B REH T3 ZE =8 ) RE L y Al T3 HH ENi& )

KISTAEEIRBLYRSIIE (M) 1,222 1,125 1,250 1,199 975 881 928 992 925| 1,000 972 1,100 984 1,042
A ESEX (HaiE3»E£FH) (%) N 0.3 6.8 7.9 4.8 000 A14 2A07 ~A03 0.0 0.0 AO0.1 0.0 4.3 2.2
5| SHSEEIRBYHETERE (M) 1,218 1,201 1,348 1,260 975 869 920 989 925| 1,000 970 1,100 1,027 1,065
ESMbEEHERS OKR) (M) || 10970 10810f 12,140f 11,310 8,780 7,820 8,300 80900  8330f 9,000[ 8740  9,900f  9,240f 9,580

SHAEELIREYIReXHIE (M) 1,034 1,125 999 1,053 932 975 954 988  1,013]  1,003] 1,001 1,013 1,079 1,046
- ERE GIETEIH» EFH) (%) 5.8 2.9 3.4 4.0 171 203 0.7 0.9 1.0 1.2 1.0 A6l 15| A23
; SHSEEIRRH LTRSS (B) 1,004  1,158] 1,033 1,090 948 972 960 996| 1,023  1,016] 1,010 950 1,095 1,020

SHSEEHERE O (M) 9,840 10,420 9,300 9,850 8,530 8,750 8,640 8,960 9,200 9,140 9,100 8550 9,850 9,200
B ISHAEEIRBLYRSLIIE (M) 1,028 989 1,009 856 856 991 991
B ERE CIaiE3» £ (%) 4.8 AN 0.2 23] A45 N 45 1.6 1.6
IR | SMbEE IR Y HEERS () 1,078 988 1,030 818 818 1,007 1,007
& \SAsEEHERE OBRE) (M) 9,700 8,890 9,300 7,360 7,360 9,060 9,060
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(3) A 5 R EERER RS (58 3 )

(HA7 = )
RE NE ht+he BT

FIE BE | EBHM | T 2R A i R4E 1y Bm T FE ENbE 5

" S oM o4 E R O£ 8 20 10,000{ 10,000{ 10,000f 10,000 7,800 7,800 7,800 8,800 8,800 8,800 8,800 9,900 9,900 9,900
m|Is M 5 & E # & & £02 10,970 10,810f 12,140f 11,310  8,780|  7,820f  8300f  8900[ 8330 9,000f 8740 9,900  9,240] 9,580
T 1(1) x EREOHIE3 7 £F49)(3) 9,970 10,680 10,790| 10,480  7,800f 7,690  7,750f  8,780] 8,800 8,800 8790 9,900 10,330 10,120
= (@D + @ + 3 ) =3 10,310 10,500 10,980 10,600f 8,130 7,770  7,950f 8,830 8,640 8,870] 8,780  9,900]  9,820f 9,870
4 M4 E E £ 8 0 9,000f 9,000 9,000f 9,000f 7,800] 7,800 7,800f 8,100  8100|  82100f  8100f 8200 8500 8350
Ble ms & g8 5 8 £(2) 9,840 10,420 9,300  9,850| 8,530 8750 8640f 8960 9,200  9,140f 9,100  8,550]  9,850| 9,200
; (1) x EFRGIHTE3 » F£F19)(3) 9,520{ 9,260 9,310  9,360f 7,930 7,770  7,850f 8,170  8,180| 8200 8,180 7,700  8,620f 8,160
(@D + @ + (3 ) =+3 9,450 9,560 9,200  9,400f 8,090 8110f 8<100f 8410 8490 8480 8460 8150 8990| 8570

= S M4 E Z £ 8 2«0 8,900(  8900] 8900 8900 7,700f 7,700f  7,700f 7,800  7,800|  7,800f 7,800  7,700]  7,900f 7,800
Bls M5 & E # & & £02 9,700 8,890  9,300] 7,360 7,360 9,060 9,060
(1) x EREHI4E3 5 £F19)(3) 9,330 8,900 8890 9,040 7,360 7,700  7,530f  7,800f  7,800f 7,800 7,800 7,700 8,030 7,870
" (@O + @ + 3 ) =3 9,310 8,900 8,890 9,080 7,470 7,700 7,530 7,800 7,800 7,800 7,800 7,700 8,330 8,240
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5.2 % &K
()41 4 4R OEEZ iR e — B R — (B 4 %)
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BH HHEA S HERABA | XIERA
, , Hts S N 7T
KHE HiEe | *Hh=E - (3w |ggAsl (60kg %)
e thig EQ A ) EE

F E| 720 /119|850 1i/| 18 12,767 6,167 6,700 8,433 18,000] 39,593 2,800

L B 780 /120|845 /1 20 13,050 6,333 7,100 7,633 17,940 39,094 2,387
R
3

=EAM| 889 /118865 i/ 10 16,667 6,750 9,000 7,250 21,000 45,235 2,958

ol 796 (/119853 1i/1 16 14,161 6,417 7,600 1,772 18,980 41,307 2,715

Z Bl 773 /1191950 i/} 19 19,167 6,967 7,833 7,625 18,475| 36,840 2,430
ZaN

= = PB| 647 /122|880 1/} 22 13,100 6,325 6,950 7,250 17,425 38,956 2,575
=3

ooyl 710 (/1209151 /1 20 16,133 6,646 7,392 7,438 17,950| 37,898 2,503

£ 4| 610 /123|843 i/} 21 12,400 6,129 6,329 7,386 17,343 40,101 2,543

HL o E=| 740 i/120(683 i/ 20 10,467 6,280 6,480 7,800 17,920 40,220 2,770
7

=) B [m| 705 /120 720/} 20 5,900 6,267 7,500 17,733 38,700 2,700

gl 685 /121|749 /1 20 11,433 6,103 6,358 7,562 17,665| 39,674 2,671

& He| 780 /{17 | 725 i/ 17 18,850 9,200 6,225 7,225 17,833 42,040 2,867
o

TN 5E| 832 /119864 i/ 19 12,543 5,975 6,763 8,088 18,375 40,950 2,886
@

oyl 806 /i 18| 795/ 18 13,944 7,050 6,583 7,800 1,620 18,227 41,248

X BWIZ 1YY OHfliE 10a T HBERFEETH 3,




LMHFEDZRERE (5 5 K)

B A B = £ ERBSIL R
ERELAA | BERER | ERBLAA | EEM
+ E 82,100 70,300 78,600 72,400
- Z F 78,022 66,025 65,000 55,000
=
* -
BN 83,487 76,431 92,000 61,000
o 81,203 70,919 78,533 62,800
Z B 80,000 60,000 61,500 55,500
ANE | R BB
o3 80,000 60,000 61,500 55,500
kE =% 81,800 62,438 81,800 63,300
TR 66,630
NTNE
p: i
o5 81,800 64,534 81,800 63,300
H W 60,800 60,800
BT | D & 79,000 67,000 66,303
o 79,000 63,900 63,5652

(10a %4:)

X OPHEN D & ~IBETRIEE £ CoEE,

XoOREET &R, BRECA

okl BEfozThd,
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(3) EFEIFEEGE 6 %)
1 H4Y:M)
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R HESES ERENERES
NI EB | £ARI | & R | AR ERR
g 8 5 L8
+ E| 8,077 8,077
_|EB E| 1670 7,670 15,470| 15,470 25,600| 27,800{ 18,360 8,410 8,410
LN
] —
HEEH| 8,179 8,167 15,756| 14,420| 21,760 23,632| 17,412 18,704
o3 7,976 7,972 | 15,613 | 14,945 | 23,680 | 25,716 | 17,886 | 13,557 | 8,410
% FE| 7,305 7,305 12,946 12,946| 20,800| 20,650 14,950 16,000 19,300
4k
W% f&| 7,954 7,954 9,425 9,425| 20,800 21,400| 14,000
B
| 7,630 7,630 | 11,186 | 11,186 | 20,800 | 21,025 | 14,475 | 16,000 | 19,300
& 4%| 7,735 7,735 11,000f 11,000
n ,
i | 7,753 7,753 13,230| 13,230 15,000| 15,000{ 12,000
Ny,
%VW | 7,583 7,583 13,728| 12,879| 25,600 27,300{ 21,100
o3| 7,691 7,691 | 12,653 | 12,370 | 20,300 | 21,150 | 16,550
& H| 7872 7,872 13,347 12,347 20,000 20,000{ 15,000
®
TED 5E| 7,792 7,792 15,000| 15,000{ 19,431 20,972| 15,839| 10,850 10,850
5| 7,832 7,832 | 14,174 | 13,674 | 19,716 | 20,486 | 15,420 | 10,850 | 10,850

KEGFRFE S 3 ANEFEo TS XEFNESIIFEEEED 30 FRikoEE




(4) FEREESZ Do BHGE 7R)

(1 H:F)
KHEEZE MHEZE REINEIESE
F oz 770 660 350
=| B 2 1,000 1,000
| =585 500 500 500
T gy 757 720 425
Z B 425
T 425
NEE: 1,000 1,000
+| b R
| B @ 500 1,000
e 750 1,000
5| B W 750 1,000
T O &
I 750 1,000
i &

(1) REFHFESIT, A4 EEERESEZICHET IFED (oo B By oEiERTH 2,
2) TzofioBEH] &3, EREROBICIHESZINVELNC XS T23BERATHY., BF - NEFD
B FEAMAE, SRS X 3k, FERSOLEHETH B,
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